
 

Mounting instructions

Storage drawer

mounted on HD500

1

2

3

4

M8

 4x

6x25

  4x



Mounting instructions

Storage drawer 

mounted on W400

1

2

2 Turns

M8

4x

M8x20

  4x

M8

4x

4



3



6

5

Tighten

4x



Mounting instructions

Storage drawer 
mounted on W300

1

2

M8x20

  4x

M8

 4x

3

30x25

  2x

#

4

5

Tighten
2x









6



u



M8x20

  2x

2 Turns

1

2






 

 

 

 

Mounting instructions

1

2

3

4

5 6

M8x20

    4x

M8

4x

M8

4x

u 

30x25

   2x

M8x16

    2x

Storage drawer

mounted on LD300


